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QUESTION 1

You are in the process of creating a virtual private catalog in your Oracle Database 11 g database. The PROD1 ,,
PROD and PROD3 Oracle Database 10g databases are registered in the base recovery catalog. The database user
who own 

the base recovery catalog is CATOWNER. CATOWNER executes the following command to grant privileges to a new
user VPC1 using Oracle Database 11 g RMAN executables: 

RMAN> GRANT CATALOG FOR DATABASE prod1, prod2 TO vpc1; 

Then you issue the following commands: 

RMAN> CONNECT CATALOG vpc1/oracle@catdb; 

RMAN> SQL "EXEC catowner.dbms_rcvcat.create_virtual_catalog;" 

What is the outcome of the above commands? 

A. They execute and create a virtual catalog for pre-Oracle 11 g clients. 

B. They produce an error because PROD1 and PROD2 databases belong to the older version. 

C. They produce an error because you need to connect as CATOWNER to execute this packaged procedure. 

D. They produce an error because you need to connect to the target database to execute this packaged procedure. 

Correct Answer: A 

 

QUESTION 2

What is the advantage of setting the ASM-preferred mirror read for the Stretch cluster configuration? 

A. It improves resync operations. 

B. This feature enables much faster file opens. 

C. It improves performance as fewer extent pointers are needed in the shared pool. 

D. It improves performance by reading from a copy of an extent closest to the node. 

Correct Answer: D 

 

QUESTION 3

Which statement is true regarding virtual private catalogs? 

A. The virtual private catalog owner cannot create and modify the stored scripts. 

B. A virtual private catalog owner can create a local stored script, and have read/write access to a global stored script. 
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C. The set of views and synonyms that make up the virtual private catalog is stored in the schema of the RMAN
recovery catalog owner. 

D. To perform most of the RMAN operations, the virtual catalog owner must have the SYSDBA or SYSOPER privilege
on the target database. 

Correct Answer: D 

 

QUESTION 4

Which statement is true regarding online redefinition for the migration of BasicFile LOBs to SecureFile LOBs? 

A. It cannot be done in parallel. 

B. It can be done at the table level or partition level. 

C. It does not require additional storage because the operation is done online. 

D. Local and global indexes are maintained automatically during the operation. 

Correct Answer: B 

 

QUESTION 5

Which two statements are true regarding the Automatic Diagnostic Repository (ADR) in Oracle Database 11g? (Choose
two.) 

A. A single ADR can support multiple ADR homes for different database instances. 

B. The alert files are stored in XML file format in the TRACE directory of each ADR home. 

C. If the environmental variable ORACLE_BASE is set, then DIAGNOSTIC_DEST is set to $ORACLE_BASE. 

D. The BACKGROUND_DUMP_DEST initialization parameter overrides the DIAGNOSTIC_DEST initialization
parameter for the location of the alert log file. 

Correct Answer: AC 
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